Chapter 2 Pretest
Multiple Choice
Identify the choice that best completes the statement or answers the question.
____
1.
Nadia receives an annual salary of $34000.00. What is her average monthly income?

	a.
	$680.00
	c.
	$2833.33

	b.
	$1307.69
	d.
	$708.33


____
2.
Katarina earns $14.60/hour for regular hours of work. She is paid time and a half for overtime work. What is her overtime rate of pay?

	a.
	$9.73
	c.
	$25.55

	b.
	$18.25
	d.
	$21.90


____
3.
Gwen works as a home care nurse. She receives an hourly wage of $21.96 for hours worked Monday to Friday. On the weekends she earns time and a half. 

Gwen works Tuesday to Saturday, for 12 hours a day. Calculate her weekly earnings.

	a.
	$1844.64
	c.
	$1976.40

	b.
	$1317.60
	d.
	$1449.36


____
4.
Luis works as a journeyman carpenter. His hours for one week are listed in the table below. If he works more than 35 hours in a week, he is paid time and a half for every additional hour. His regular pay is paid $16.30/hour. Calculate his earnings for the week.

	Time card: Luis

	Day
	Start Time
	End Time
	Hours Worked

	Monday
	6:00
	17:00
	

	Tuesday
	7:45
	17:00
	

	Wednesday
	7:00
	17:45
	

	Thursday
	7:00
	17:45
	

	Friday
	6:30
	15:15
	

	Saturday
	6:30
	14:30
	

	Sunday
	
	
	


	a.
	$1259.58
	c.
	$1145.08

	b.
	$1430.33
	d.
	$1030.57


____
5.
Hugo assembles motherboards for a computer manufacturer. He is paid $7.00/board he completes. If he completes 17 boards a day for 3 days, how much does he earn that week?

	a.
	$119.00
	c.
	$357.00

	b.
	$285.60
	d.
	$464.10


____
6.
Jessica waits tables as a part-time job. She earns $8.45/hour plus tips. She works 3 shifts, each 5 hours long, in one week. On average, her total sales were $570.00 per night. 

If all her customers left a 13% tip, how much did she earn that week?

	a.
	$436.31
	c.
	$279.24

	b.
	$349.05
	d.
	$418.86


____
7.
Amir works as a print shop manager. He receives a yearly salary of $43250.00. After his first year, he receives a 2.5% bonus for providing excellent customer service. What were his total earnings for the year?

	a.
	$39898.12
	c.
	$48764.37

	b.
	$45845.00
	d.
	$44331.25


____
8.
Katie works as a server at an Italian Bistro working 4 days per week for 6 hours each day.  She is paid $10.60/hour. Her sales average about $140.00 each day. If her customers all tip 20%, what will her weekly earnings be?

	a.
	$282.40
	c.
	$476.32

	b.
	$254.40
	d.
	$366.40


____
9.
If you earn a gross income of $4096.00/month and you have $1474.56 deducted from your monthly paycheque, what percentage of your wages is being deducted?

	a.
	36%
	c.
	3%

	b.
	50%
	d.
	39%


____
10.
What percentage is being deducted from your wages if you earn $802.00/week and pay $39.70 for CPP, $13.87 for EI, $78.60 for federal tax, and $29.67 for provincial tax?

	a.
	20.18%
	c.
	18.16%

	b.
	16.14%
	d.
	22.2%


____
11.
If your CPP contribution rate is 4.95% and your salary is $1235.00 every two weeks, how much will be deducted from your paycheque for CPP?

	a.
	$611.33
	c.
	$61.13

	b.
	$122.27
	d.
	$6.11


____
12.
Andy’s taxable income is $3556.25/month. He pays federal tax at a rate of 10.4%, provincial tax at a rate of 7.0%, CPP at 4.95%, and EI at 1.73%. What is his net income?

	a.
	$856.35
	c.
	$3223.77

	b.
	$2699.90
	d.
	$2704.23


Short Answer

1.
Phillip works as a carpenter. He earns $26.84/hour. His current project took 52 hours to complete. He needed to spend $600.00 in supplies to complete the project, which he pays for himself. 

How much did he earn for the job?


2.
Belinda is a seamstress. She charges $16.50 to hem pants, $9.90 to alter a shirt, and $33.00 for any alterations to suit jackets. How much will Belinda earn if she works on 14 pairs of pants, 6 shirts, and 3 suit jackets?

3.
Hugo earned $3517.00 last month as a line chef, including tips. He took home $525.00 in tips. If he worked 176 hours in the month, what is his hourly wage?

4.
Krystof earns $15.55/h for regular hours of work, time and a half overtime, and a shift premium of $2.25 for split shifts. His regular work week is 40 hours. If he works a total of 45 hours and works 6 split shifts, how much does he earn for the week?

5.
Explain what CPP is.
Problem

1.
Which of the following jobs pays more per hour?

• 
A child care worker earns $952.43 for 41 hours of work per week.

• 
An office assistant makes a yearly salary of $47840.00 and works 40 hours per week.

• 
A mechanic works 8.5 hours/day, 5 days a week, and earns $1147.50 a week.

2.
Iona sells firewood. She pays her son $17.25/cord to chop and stack the wood for delivery. She then sells the wood for $52.00/cord.  

a) 
How much does her son earn if he chops and stacks 15 cords of wood?

b) 
How much does Iona earn when she sells 15 cords wood?

3.
Below is Robert’s pay statement. Use the information to answer the following questions.

a) 
What is Robert’s gross pay per pay cheque?

b) 
How often is Robert paid? How can you tell?

c) 
What is Robert’s gross annual income?

d) 
How much does Robert pay in deductions each pay cheque?

e) 
What is Robert’s net annual income?

	Employee Name: Robert

	Company: 


	Pay Begin Date:07/15/2010
	Net Pay:

	
	Pay End Date:07/28/2010
	Cheque Date:

	

	General
	
	Taxes Data

	Employee ID: 123123
	Job Title: 
	
	Description
	Federal

	Address:
	Pay Rate: $1525.00
	
	Claim Code
	1

	
	Annual: 
	
	
	

	
	
	Taxes

	Hours and Earnings
	
	Before Tax Deductions
	
	Description
	Amount

	
	Current
	
	Description
	Amount
	
	Federal
	$148.95

	Description
	Rate
	Gross Earnings
	
	Union Dues
	N/A
	
	Provincial
	$55.35

	
	
	
	
	Pension
	N/A
	
	CPP
	$75.49

	Regular
	
	
	
	Total
	$0.00
	
	EI
	$26.38

	
	
	
	
	
	
	
	Total
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SHORT ANSWER

1.
ANS:


Calculate Phillip’s total income for the project, minus his expenses.

[image: image1.png]$26.84 x 52— $600.00 = $795.68




Phillip earned  $795.68 for the project.
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Calculate Belinda’s total earnings.

[image: image2.png]total = shirts + pants + suit jackets
rotal = (6 $9.90) + (14 x $16.50) + (3 x $33.00)
total = $389.40




Belinda earns $389.40.
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To calculate how much Hugo earned from his hourly wage, subtract his tips from his total earnings.

$3517.00 – $525.00 = $2992.00

Divide his earnings by the number of hours he worked.

$2992.00 ÷ 176 = $17.00

Hugo’s wage is $17.00/hour.
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Calculate his hourly overtime pay.
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Calculate his total pay.

total pay = regular pay + overtime pay + shift bonus pay

total pay = 40($15.55) + 5($23.33) + 6($2.25)

total pay = $622.00 + $116.63 + $13.50

total pay = $752.12

Krystof earns $752.12 for the week.
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CPP is the Canada Pension Plan. You pay a small amount of money from each of your paycheques so that you will receive a pension upon retiring.
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Calculate the hourly rate for each job.

Child care worker:

$952.43 ÷ 41  = $23.23

The child care worker earns $23.23/hour.

Office assistant:

$47840.00 ÷ 52 = $920.00 per week

$920.00 ÷ 40 = $23.00 

The office assistant earns $23.00/hour.

Mechanic:

$1147.50 ÷ 5 = $229.50 per day

$229.50 ÷ 8.5 = $27.00

The mechanic earns $27.00/hour. 

The mechanic earns the highest wage per hour.
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a) 
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Iona’s son earns $258.75 for chopping and stacking 15 cords of wood.

b) 
Calculate Iona’s earnings per cord of wood.

earnings = sale price – son’s wage

earnings = $52.00 – $17.25

earnings = $34.75
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Iona earns $521.25 when she sells the wood.
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a) 
The pay statement shows Robert’s gross pay per paycheque:

	Pay Rate: $1525.00


Robert’s gross pay is $1525.00 per paycheque.

b) 
Robert is paid every 2 weeks. You can tell this by the pay begin date and end date.

c) 
Calculate Robert’s gross annual income by multiplying his pay rate by 26 (52 weeks/year, divided by 2).

[image: image6.png]$1525.00 x 26

39650.00




Robert’s gross annual income is $39650.00.

d) 
Add Robert’s deductions for federal tax, provincial tax, CPP, and EI.

$148.95 + $55.35 + $75.49 + $26.38 = $306.17

Robert pays $306.17 in deductions each paycheque.

e) 
Calculate Robert’s net biweekly pay and multiply by 26.

[image: image7.png]net annual income = (gross biweekdy pay - deductions) x 26
net annualincome = ($1525.00 - §306.17) x 26

net annual incorne = $31689.58




Robert’s net annual income is $31689.58.
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